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Note : This paper contains fifty (50) multiple-choice questions, each question carrying

"ly:

two (2) marks. Attempt All the questions.

PR AL YA (N0) sigfsely uadl B, e3s wadey R(2) @ .
Gl Uil G awl, -

Which of the following Indian Philosophers laid stress on the education of
commone_i's ?

(A) Mahavir (B) Shankaracharya

(C) Buddha (D) Ishwara Krishna

UM Bl (e e sul encdly dealidd ou ysui 97

@A)  uadlR ®) s

© Ya D S22 BFwy

In the school of philosophy called ‘Idealism’, the reality is viewed as :

(A) Relative (B) Absolute |

(C) Contektual ' (D) Experientia)l

wedtae/Ratae degiqi-l R4 ‘adR sy’ q edd

........... Aa/sHd
s 204 8 |

@) wla B fRla
(€) deol D) wigeias=y
3. In the Indian Philosophy, the term Relativistic Pluralism’ is represented by :
~ (A) Shunyavad (B) Syadvad _
(C) Lokayat | (D) Kshanbhangvad _
WA ogaue’ Nl Aseuen ourely qeasni L. 4 ufRa 53 § .
(A)  Yruale (B) wleals
" (C)  distud D) aweidgle
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Which of the following schools of Philosophy will propose the disestablishing

4.
of formal educational institutions ?
(A) Logical positivism (B) Positive relativism
(C) ldealism (D) Existentialism
| Sl Ruae 2izeuvitdl BieeRddid Ravad {2 200600 deasi-l 5§ Raura
| glal Sl Al |
| @) s Rbuas (B) Riwcs wlaae
(© wusdaie/RaRae O Bdcae
B Which of the following is a correct match for items indicated in column I
in terms of items in column II :
Column 1 Column II
(@) Sankhya (i) Dependent origination
() Vedanta (iiy Anekantvada
(o) Jainism (iii) Monism
(dd Buddhism (iv) Dualism
(@) (b) (©) (@)
(A) (iiD) () @) ®
(B) (iv) (itd) €Y (1)
© @ (iv) @i © (i)
®) (iv) (iit) (&) ®
| Rewdt-a > Reter—2 1 wuda QRodia 03 2ula Rscuinisl sa 0 [@Asey
| AS &? -
| Rsua—-1 Reuat-2
(@ AW ¢ uldc wyeue
(b) dett () wiAAsidale
© % dasid @) ¥adale
d olg detstirt (v) adae
- (@) (b) (©) (@
(A) (o) (iv) (©) @
(B) @) (iD) 0] @)
©) @ (iv) (1 (@)
D) (iv) (i) ) (&
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Who envisioned education as a man-making process ?

(A)  Aurobindo Ghosh . (B) Swami Vivekananda

(C)  Rousseau @) Tagore '
Bae 2t als wdq qsdasdl e 8 2g siq edd @7

A)  2nzde Wy (B @l Rast-ie

© 3 | @ 2wl

‘That which is useful is true’ will be accepted by : )
(A)  Idealists (B) Realists

(C) Pragmatists (D) Naturalists
Y GuElol B A o A’ AG ... @ ellgd a1l 2ad
@) usdadiyRa gy (B) - drdaaidlaii

(C)  nulowugluii @) uglRautx/FHasiudl»i

Which of the following statements in respect of National Values may be
con_sidered to. be enshrined in the Indian Constitution ?

(A) My Country—Right or Wrong

(B} One country without tolerance for diversity of any kind

(C) In a country everybody has a right to education

(D) A good country is that which is classless and casteless

auadly ojarRni el ANflu A AR e Reusiinis) 53 Qs atefs
53 87

(A) Rl 2y — WAl 3 widl

B) 56 wa usivdl RRAd WS As 2u B wseelladl 1 Sy

(© 2al s 2u 3 Ful £33 Blaw-dl os oin

@) s Adl WA 24 F WIARA w7 WRARA <y

‘Knowledge is Power’ will be acceptable to which school of philosophy ?

(A) Logical empiricism (B) Logical Analysis =

(C) Naturalism . (D) Realism ° :
‘At R 4B B0 deasuedll 55 RAN 2w @A Mgt i ai?
(A  alds wmqeiqae B ddis [asdwe

(©)  uslaae/ Aol (D) ardadls
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10. “Education is basically a process of transformation”, according to @

(A) R. N. Tagore (B) . Aurobindo

(C) Ramanuja @) Ram Tirtha

Cpaa B yasd dd 3uiaerl wEul 8.7 dcallds ......... Al VAR

@A) WMsena 200 ® nzlde |

(C) UNLY @) Ul .
11. Which school of philosopliy considers knowledge as an ‘Emergent synthesis’ ?

(A) - Logical Positivism ' (B) Positive Relativism

(C) Logical Analysis (D) Logical Empiricism

acsual 58 Qe ‘anid [@srida A’ a3 Al 87

@) uBs Rasae B Riueis wlade

(© dills [asaum @) lfs deadue

12. ‘Sarva Shiksha Abhiyan' has been designed to :
(A) meet the educational needs of the poor
(B) address the aspirations of the masses
(C) fulfil constitutional obligations
(D) please the weaker sections of the society
ey s’ AAL s 2da 8 el :
@) axlel dafis suagusdiell ud. 53 W
®) F-uyesdl siania Adivl asu
© oimaela Anasi yayel s8R as
@) WL ot adld ya 53 as

13. Education as social system has the following characteristics {which one is not
correct) :
(A) It is meant for individuals of society
B) It is being managed by individuals of society
(Q) 1t is meant for development of individuals
D) 1t is related to upper strata of society '
e 3 s s adly 4 g aam aud & (84 wa o) :
@A) -l Al W2 d 8 A A 21 &
@) wuwdl Al gl d-l cdal Al 8
© alidziq Ray w2 4 8
©) A WL Gual 3 WA Asa qud &
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| 14.
i
;r‘_-
|

15.
|
|

16.
—

The term modernisation best connotes :

(A) Economic upliftment of the people

(B) Change of political system

(C) Cultural revolution _

(D)  Spiritual upliftment of the people

2UgMsdirll Aseu-tril Gun v iy @

(&) disi-l 2uls G~

(B) XS aqud wWRadq

(© aixlas sil -

@ i suuldis G-R |

The foundations of democracy may be best described by the set of phrases :
(A) Independence, Equality and Brotherhood

(B) Social Stratification and Social Development

(C) Economic Strata and Economlc Development

@) Cultural Development and Nationality

alsweldl 28R el A el su wos. Ayl a8 Gnn Ad aeldl
ASY,

A RAdaAdl, AL A eigey

®  weulys s =14 wsulys R

(© ulls a2 27 2ulfs Rs

O wirglas Rmna A andluae

Secularism means :

(A)  Everybody gets equal vocational opportunities

(B) Freedom to provide religious education to all

(C) Each one has freedom to practice histher our religion
(D) Each one behaves as per hisfher religious laws
BininclPsar 22q :

(A)  £351 Aamu-l W dsl wd

B add wubls R 43I wsall wdoiat
(O e3s Aldad Widil 9] woadl 2adstdl

®) €35 Ald q/del-u wbls M s qd
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17. The most important facilitator of social change is :

(A) Education (B) Religion

(C) Ethnicity ' (D) Caste

anulss wRad- w2 2ol qeesdl 4l S ¢ |
@A) [ha | ®) il | ' o
(© dualaud O 2ad

18. Social mobility is largely attributable to :
(A) Availability of job opportunities
(B) Desire of the individuals to move from one stratum to another
(C) The parental pressure
(D) Politics in the society
et il weulys aladlaa .......... A dd e ‘
@A) sl asil wka - o
B) Alqzi-l Ag il ofia Wl wuldl el
(©)  uellaiinl sous
(D) AR WA UFSIRA
19. The characteristic of Indian Society, that distinguishes it from other societies

is : 7
(A) Its caste system (B) Its religious system
(C) Its unity in diversity, D) Its multilingualism _
ol Wrd ¥ s AN w-a WA AAA WE D d e B
@) adl alana ®) A allsua
(C) Al RRad st D) a-l eigeursluae
20. The constitutional provision for upliftment of weaker section of society is
creafing :

(A) New class system

(B) Gender sensitization

(C) Equality of opportunities in job situation

(D) Depression among talented population

AL oLl UL Gt Ml sl AaaudHl u¥ & ¢
@) dl alana | |
@) [ ud-l uet-dl -
© sl Wust ast .
D) Al aisini sl s
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21.

22.

23.

24.

A child insists on learning thrbugh new games provided in a computer. It
may be treated as an example of :

(A) Modernization in learning (B) Acculturation in learning _

(C) Socialisation in learning (D) Globalisation in learning

s ons s2yeni Al Adl Wl gL ViU 520 HE s 5T O By
Gele@ owig AYA

(&) eyl 2ugfsag (B) Uil wRiglAseg

© e aufysag 0 @) deuddl dadlsra

In what way ‘politics’ contributes most to education ?

(A) by reducing the fee hikes

(B) by making ‘students freedom’ a right

(C) by framing new educationai’ policies

(D) by enacting laws which favour students and teachers

ugsie 56 Ad Raei wedH ous od 87

A) sl quidl gast 53R

®  ‘QeaflaiA]l @dsidl’ R es e 2lA

© Al Rl asid |

® Reuellol w1 Rasidl ddani g Al siueiiyd asaz s309

Who contributed the most for upliftment of weaker sections of the society in
India ? :

(A) Sri Aurobindo _ (B) Vivekananda

(C) Gandhiji (D) Tagore

elcdly WAL Aol QAL Gt 2 WM GUIL 519 oedl?
A s AqfEe ®) [Qdsi+ie

() aidle | D) 21U

The caste system tends to ceate :

(A) An open society (B) A closed society .

(C) A dead society : (D) A changing society
lamal 48 uxdy & : o

(A) s AU | (B) oilAwr

() Yd A ®) wRad-slla wuxy

Bdu—T 9 | PTO.



25.

: .
26.
_ - 27,

Reinforcement in behaviourist school of thought may be a :
(A) Stimulus that follows a response '

(B) Stimulus that preceeds a response

(C) Stimulus that 'proceeds or follows a response

(D) Stimulus depending on the occurrence of a response
ad-aigl AR AR Hotart B 2As WSl ¢

A) GAus & nlaAwRA AN B

®) GAus % wRaw yI siu 8

© Ghus ¥ uRAn yd ¢lu 2 Agud w@ el

@ iR w2 adld Glus sid

Thorndike’s ‘Law of Effect’ operates through :

(A) Strengthening S-R connections

(B) Weakening S-R connections

(C) Reinforcing every stimulus

@) Strengthemng S R connection through a satisfying state of affal,rs
-sidsl ‘vl Rgld’ ......... Losd 538

(A) SR i woit vt

(B) S-R i ol vdziainel

(© udAs Glus nea- a8

@) Adinxrs RaRl af S-R wferiann wwed s3I

What is the critical factor in conditioning through Pavlov’s classical procedure ?
(A) Pairing of a stimulus with a response

(B) Repetition of a stimulus-response connection again and again

(C) Pairing of a neutral stimulus with unconditioned response

D) Pairing. of a neutral stimulus with unconditioned stimulus

wadiadl ol sigeia BAM suL wwareid wReagd R wn 87

(A  6Rusd wla wdd you-

B)  GAus-uQaz wiad R yadq
© Brexorifd R Wl aza Gdusd your
@) de Géusd Brlrifa 6us dd youq
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28,

29.

30.

In classical conditioning, extinctin is said to occur as a result of :

(A) Unconditioned stimulus followed by conditioned stimulus -

(B) Conditioned stimulus followed by no unconditioned stimulus

(C) Conditioned stimulus followed by unconditioned response

(D) Unconditioned stimulus followed by withholding of conditioned stimulus
ety wRianl, Redy 20 uRas [|3w a8 2 ¢

Ay  Bevepifad 6Aus wlRIRC GHusd wgul 8

B) xR Glus BrmriBid Gdus gt 4 AqauY

© lRRiR Gdus BiaamiMaafd uaun gk 8

O Beasfrifd GAus vPRIBd GAust »azg s AU 8

In operant conditioning paradigm which of the following is optional ? -
@A) Cue |

(B) Response

(C) Reinforcement

D) Response-reinforcement contingency

st3s R A DAl sul dsleus 97

(A)  Ad
B uwloaw
(©) weaxt

@O URAR-usad Felaa |

According to which of the following theories, structuring and restructuring
of experiences gives rise to learning ?

(A) Insight theory of Kohler (B) Slgn gestalt theory of Tolman
(C) Reinforcement theory of ‘Hull (D) Field theory of Lewin

D4 Rrgidini- sa Rigia oo u:;otqt«ﬂ AAAL 2 Yot AAL gL el
Georn w87

(A)  fedd Aidwys Reid  (B) Adinadl ddd-uun Reld

(©) sadi o Rgid D) Alni #-(lu Risia

Edu—1 i1 ' PTO.



31.

32.

33.

In Gagne’s hierarchy, ‘Concept learning’ will not include :

(A) Sign learning (B) S-R learning

(C) Rule learning (D) Discrimination learning
At RsHHL Aseusilyd veau’ Wi ... 4 wudy 2a AR
@A) AWd waud (B) S-R wisuq

(C) [(Run ey (D) ®lesligs wRuA

Principle of continuity in Growth a_nd Development means :
(A) Growth and Development are uniform

(B) Growth and Development are predictable

(C) Growth and Development are linear

(D) Growth and Development are never ending process
ql& A Qs WMdcau Rigiart 21wy S

@  al A Qs s 1wl B

B  ala v Qs elQsasaq 530 usiy 8

© qlz »i Rs A 30y 8

O qla 2 Qs uBanl sl sid ad) o)

The main objective of Rewarding is :

(A) encouraging a person

(B) To get desired action repeated

(C) To set an example before others

D) To give donations

YA Wy &g B ¢

&) Ald dicuRa 53

®  SReva sidd yrtnadd wi 59

(© 41 uloy Gele@ Y3 wsqg

@) sl Nl |
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34.

35.

36.

Which of the following is not used in describing intelligence ?
(A) Learning capacity

(B) Capacity to deal with abstraction

(C) Capacity to accomodate and adjust

(D) Capacity for rote-memorization

lad ault srami (Al st Asew Gualomi whiadi 7
{A) vy @Hcdl

@ wyd R wd sel sadl and

(© WYl 2R Wyl and

@O vl axd

Tt is not necessary that a creative child has a :

(A) necessary level of intelligence

(B) knack for doing things in his/her own way

© gift of gap | |

(D) new way of accomplishing results

Ag %33 «ll 3 uFedla ouas WA

Q) ofEddl W2 ¥ams Qi sin

@) Gt N Aellja-uni s sradl suidl sin
© Qs @yl da sin ‘

@  uleun wid syl adi wel €l

Which theory views personality as a continuum ?

(A) Type theory ' (B) Trait theory
(C) Psycho-analytical theory (D) Role theory
vl 4 Rigid aBdwar A 28 87

A a2 Rgid B) aan Rgid

(©) wifrduw Raid @ efsifRale Rgia
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37.

38.

39.

Origin of hypothesis lies in :

(A) Data collected during research

(B) Results obtained after data analysis

(C) Interpretation of results _

(D) Richness of background knowledge

Geseurilatly Geataallet ............ Wi Wy O

(4) RAulad eBPad wRdld Assllsaw

®  Mledl yassa sue wid 2dal Rl

(O wRewul wdyen

@) ald -l Ayl

If a score of 5 is added to all the scores in both the groups (X and Y) while
tabulating for correlation, the value of coefficient of correlation will :

(A) increase (B) decrease

(C) become zero (D) not change

U o ol (X A Y) Hi 5 4t s 6ANA a&mq el alisarll sraumi
A dl Hg Asoladl s yeu

@A) aud (B) ilg§ udl

() guad @) oz AR

In a t-test, SD is near zero in both the groups, the d1fference In mean scores

-~ will be :

(A) Quite high and significant

(B) 'Quite low and significant

(C)  Quite high and not significant

M) Quite low and not significant

A t-5AEM0 e ogeini SD vl Aws Sid dl w3 s Ais-l dastad ..........
qq :

(8)  den GlAl A xeyus

(B det {2l wA welys

©  det GlUl 29 elyas AR

@)  dg Al R udyus 4R
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40. Internal and external criticism are part of :

(A) Evaluative Research (B) Historical Research
(C) Descriptive Reséarch @) Experimental Research
silalds i eua wllae ... Al oudt B ¢ |
(A)  Hedisuav duia ® Wsis alian
©  aul-ucis AWa | (D) WHdUMS AW
41. In an experimental research : '
(A) Tools of data collection are manipulated
(B) Hypotheses are manipulated
(C) Data are manipulated
(D) Variables are manipulated
wailrs dgiaaui : _
@) MR Asst s Gusel Gl sl 20a 8
(B) Geseuritoll Gl s2ami »d 8 |
© AR Goll srauui 2ud 9
@) udid Godl sl wd 8
42. Rank difference method of correlation is usually used when :
(A) Raw scores cannot be converted into standard scores
(B Raw scores are not linearly arranged
(O Quéntitative value for certain factors cannot be fixed
D) No prediction is to be made
wedoiarll sHidr dstad YeR-l ariruld Gudidt A 8 PR
A) Haeid AN iR JaisiHl FuialRa 4 s3I usy
B)  qacyd a@isil olsaell 4wy
© 3eais wRew w2 uilbas yeu RallRda - s as
D sSuR vgad 4 s3A us
Edu—1I .15 _ PTO.



43. What is the main characteristic of a Normal Probability Curve ?
(A) The curve is rectangular
(B) All scores have similar value
(C) Mean, Median and Mode have similar value
(D) First and third quartile have the same value
ALY delantl a8’ o yua dae sy 97
(A a5 2 doi sugRael § |
(B) oan QRnisig WA yeu g |
(C) AN, HRAU A olgdsd WU Yed €l
@) a2 qdly aduiad Ad o ey <€ig
44. The difference between Action Research and Fundamental Research is
' that :
(A) Actipn research utilises smaller data and Fundmental research requires
larger data
(B) Action research is need based and fundamental research is utility oriented
(C)  Action research aims at problem solving and fundamental research aims
at building theoretical frame work |
(D)  Action research is criterion based and fundamental research is hypothesis
based : '
Baets saliart »19 Yaoid Asad Al asiad A B 3 :
@), Buows Adiani vepuRdlHAL Gudion a8 2 Yaroid deliarmi agll
WRAHL Guylal ay &
B) [Bucis Auiaq %azd N2 wuadld @ u& Haoid Aan Guaibiar 2
2 d B
(€) Buiots AWaqdl 3¢ Wil Gla-l 8 9 Yaoyd Asliaddl dg Agils
3uuL gsaHl B .
O Buidis ddliad 02 wdld 9 »a Haoyd Agian Gesereit 2uad
§ ‘ |
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47.

45. - Main utility of Standard Deviation is that, with reference to average it depicts
the : '
(A) Status of an individual in a distribution
(B) Division of group into different sets of small groups
(O Percentile status of a group
(D) The score around which other scores in a group are clustered
wseid Raad-l you Gl A 8 3 d .. A auogdl »ud @
@) asuelii alia-dl Rafa
(B) %ud Roeuy-d el gl At gainin s
© qadl adilla wRRala
O)  uMicl s Rt vy gRisia Asflsn
46. The median in a distribution of scores is a point :
| (A) Below the mean score
(B) Above the mean score
(C) Below which ‘one half of the scores lie '
(D) Which corresponds with mean and mode
yopu A Riisil aduelid s Big © ¥ ¢
a) w3y yisied 4L Rad
B) uIuw s Gur Rad ©
© ad daisn wsardl 1A Rad 8
@ ¥ A AR ogas WA A W 9
Which of the following will not be considered an example of educational
research ?-
(A) Systematic attempt at gaining better understanding of educational process
(B) Understanding, explaining and predicting human achievement
(C) Making intuitive gtfess about human achievement
(D) Developing a body of organized and useful knowledge
DA e Gereelnidfl sy Aafs daand Geer@ o «ls
A)  dafs aBwA ag W A} wnrAddl dg-oig WA
@ edla Al e, wnydl 2w enfd v
(©  windly Rz 2000 vidgun uald v2sn
@) WABR A GuEdl Al AL [Bs
Edu—11 17 PTO.



48.

50.

In hypothesis testing type I error implies :

(A) Accepting an alternate hypthesis

(B) Reject';ing & null hypothesis when it is true

(C) Not rejecting a null hypothesis when it is false

(D) Rejecting a directional hypothesis when null hypothesis is false
Geseu-tiefl asiuelni 2R usla—1 AR & 3

A) seudins Geseuniel st sl

B WA slu AU YU Geseurltl 2wl syl

(O %% AHAA $1d AU Yo Beseyritll vadlsiz « 5240

@) UL YU Beseurll AAA S cnd PEus Goseurirll »idlsi s34l
There is a need for research in education as : _

(A)  Education borrows its many concepts from other disciplines

(B) Number of schools and colleges are expanding very fast in India
(C) Many people need edﬁcation in India

(D) Large number of problems in education remain unaddressed
(iamas 2qslana-dl Aasal @ sive 3 |

@) [Rae ad well ad dseu-usi ol Rudiil G-l 4 o \

B)  *URdMl WA 2 ysfRenadly e A4 asull Rrda o W

»

£
©  ouRani qen disid Ba A 2uausar el §
@) ([Raai siRivy Wl qa6dd 3¢ 8 |
A complete, accurate and upﬁo date listing of ali units in a population is called :
(A) Sample ' (B) Sampling frame
(C) Sampling unit D) | Sample report _
AuAagl yel, s 2 20y ydq-) ARA L sda B
(A) Ayl (B) -Yrltq My
(C)  ~tyrusti sy D) il 23
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